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1. Find the other two trigonometric functions (sinz, tan z),ifz liesin t

val. Show your work.
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9. Find the domain and range of the given function. Show your work
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3. Solve for y in terms of . Show your work.

(4 points)
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4. Evaluate the following limits. Show your work. (4 points)
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6—z, z<3

HOERS
E—f—a, T >3
What should a be, in order for f(z) to be continuous at z = 3. Show your work.
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6. Let f(z) = 32° — 2. Find f~!(z) and identify the domain and range of f~(z). To
check the answer, determine whether f(f~'(z)) = f~'(f(z)) = z. Show your work.

(5 points) ‘]SOIMCLvaG_i> . (,_ODJGQ) - Rai\ai o(l U‘_)
: K;amogn(f)ijwigg_mﬁﬁwgtﬁﬁ({\)l

S0 # (T )= 32y >

o Wk iy g
- %L . B
X

>
= K




7. Find the horizontal, vertical and oblique asymptotes of the graph of the following

function. Show your work. (5 points)
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8. Evaluate the limit. Show your work. (4 points)




9. For the graph of f (z)

graphed below, find the following limits, if they exist. Show your
work, (4 points)
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10. The population of a city is 330,000 and is increasing at a rate of 4.25% each year.
Approximately when will the population reach 660,000? Show your work. (4 points)

Imuﬁj T’or"mm - 3301000 L}'Z,\:Q/La
Final pofpubslimt= (00,000
i

¢ TN _ (£0,000
35%0“0(1*100) sl

O + O'OLFW)‘: =z

,t_—
\:Oq-l_g ,1

£ ln 0’—?7/5) iy

eI

\V\U' Ok*u_)

11. Simplify using the properties of logarithms and write the expression as a single term.
Show your work. (4 points)
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12. Determine the points at which the following function is continuous. Show your work.
(4 points)
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